10 F2RRM2 3 PEFFLFFRIFENE L CRBE-TFLALTR ) %982
102 % 05 7 09 p &% 4= 475§ thid3m
102 09 7 26 p & 1= 474§ k237
- “RWP
PHEL FENT  (UTHEA D) A B AATE A Z AT BAER ﬁﬁyﬁg B 2 AR AITF A PR R
TER A A IFT A2 LEF T b §F 8RB WEFY A2 E od & JFp 2 ¢ 398 pRHLLIFIFREES o
S50 B
A A r 2 FRERE AL PR A S AL SR ENY ML SRR AL AR SRR e
VAL ABE T, A HF S
CHFEARAFERL: FRFLARKRA A BT A FER L LAY
SRS SR I
(=) piETRBe & :
L #3s A ien] 2o g r B2 flFiEn s BN 7Rt R EPpLER) 5 RERERRKEE T E- F7
EATIE 240 A L R R o
2. JeipH 110#10% 6p (=) 2102 12p (=) =903t 88 (FTBEP # B3jzit)
(1) g m 5B v 5574 4 (google # ¥ ) : https://reurl. cc/1xy968 102 5p (=) 23800~357#0
Q) B A A KRR > UFTIR L H 28R -
(3) & 4% 500-800 F £] ¥ p i o« (GF¥F L474F P F (S8 » google % H 42)
3. etpghi[MFa i BijuBE] W@ RN oS- %2001 K REREGEELA AL RS HHT) o
4, RYPRrRape: W d 8- R8P 7 ~ B2 & £ % £5%& B2 + gl &k
1102 10% 18p (- ) = 138423 10* 23 p (=) ® = 12 81 o

'

%

E > |Fr‘-’.g,’1/}\1#p,-q- AT - ,ii%g,,g;{& °

In

I BR SRR AR FEFRENRS TR TRRYRATREE r L2 R BEFEL2FAFWHO L
A AL e
FOBMBAZRRACR
Fr28e¢ef I pME-RG7H(E480983-525795) @< 2t pAAE - FEEL (24 :0931-978333)
@~ L 2FEnE R PAET KL P (S48 0976-T19968) ~ BAg E = &kl (&% 1 0933-933359)
= N FR A
BB I P P Y FEL/ B
fTg el (1102107 6p (Z) 2 110E 107 12p (2 ) | MHB BBt BRp %30 2001 REBFRIGIALR1 H 4 44T
% 5 3p 110 & 10 * 17 p (P ) () 2001 % %
BT 10& 107 18p (=) 2 110# 107 23 p (= )| # B W24 H8iwF KEFT SWB2 L 3§ 345 B2 + ek
FeT=ppg |[110&10° 21 p (=) T=12:30 PR R AR KEFT CWB2E L E K
9 110 # 10 * 23 p-110 # 10 * 29 p FrF LA AT N AR g8 ST T
[ R 2
R 3 H8mT 1108 ERF T 2 4FR FE Ay B g 8w F3 5805 1 1108 &8RP 2 4]FE F AR -
1o s [0 RO LA0E R0 & 1o s [0 FOEROmMLAF R0 7 #+ 5
5| 2 z ¥ 5 | z ¥
| FEEH & i e 7| e & & e
gl ]
Tl AliEE § A & O=mas & % Tl AlEE § # O=mas & #
2 - (cm) £ cmx # cm = =t (cm) £ cmx & cm
Rz d 8 22588 4 11082877 44178 Fi AR Rt g2 58 1 1108 &3] 3 417 Fi A E
1o s |0 FOESRCMLOF 2083 SR I 1o e [0 FOEROMLAF £018 7 Sk
, | 4 » .| e & e
I fe 7 e
B & E =
il T & LA (H & Jad ﬁ T8 LAk CE & b
I % I3 i
Ll IO 5~ P Owss_ & |4 Ll IPYTEPN 7~ E: Omas_ 5 |%
& %
2 - (cm) £ cmx & cm 2~ (cm) = cmx & cm
Rzt 22588 4 1108 2RF 5 241178 SRR S Rt g $ 25408 5 [I0RERMT 2 AFE #0245z
s s |[O# L0 rOROMLF 087 e | ¥ soo e (OELDp RO L0 508 #u | ¥
) 7
5 | 2 e 5 | & H
& 5 | | 7
¥ &L (¥ & 3| FEeg (¥ i %
14 i A o
( EEYEES Gl # Omeas & ST g o # OmEe & H
& 3
2 < (cm) £ emx & cm 5 2 1 (cm) £ cmx ¥ cm ;;J



https://reurl.cc/1xy968

